12
CHAPTER 7: Explaining Tastes

11
CHAPTER 7: Explaining tastes


Chapter 7

EXPLAINING TASTES: THE                 Importance OF ALTRUISM AND OTHER NONEGOISTIC BEHAVIOR

Boiling Down Chapter 7

Rational choice theory is frequently thought to focus exclusively on egoistic behavior or "narrow self-interest" as your text calls it. This assumption of narrow self-interest makes it difficult to explain altruistic behavior. We are left with two choices. Either redefine tastes to include self-sacrificing behavior as something which is desired for its own sake, or show how what appears to be self-sacrificing behavior really benefits the consumer in ways that are rational rather than masochistic.

The text takes the latter approach, beginning with the realization that people who are perceived to be highly egoistic do not fare well in many circumstances. Furthermore, to be perceived as being an altruistic person, one must actually be one because true altruism is hard to fake. Therefore, to be truly altruistic, people must practice it until it becomes part of them. Thus tipping waitresses you will never see again or engaging in voluntary service of all kinds are all rational parts of becoming the kind of person who can reap the benefits reserved for those who are truly altruistic. Religious people might say that the temporal and eternal blessings of being a servant of others far outweigh the costs of religious practice. Your text suggests that for many, the temporal benefits themselves may be sufficient to create true altruistic behavior in people.

The story of Franny's preferences shows that she genuinely cares about Zooey and can benefit by sharing with her if Zooey is poor. This example illustrates that rational choice theory can be richer if it is recognized that people are social beings with high levels of interdependency. How you act depends upon how others react to your behavior. In a way, this chapter has parallels with Adam Smith's concept of moral sympathy, which makes social approval something that nature predisposes us to desire.

Biologists have contributed to the discussion by showing that, over time, aggressive competition leads to lower payouts than cooperative behavior. The hawk and dove story illustrates that in the long run, the non-aggressive doves will have a significant role to play in the world of hawks and doves, and that both hawkish and dovish preferences are inevitable outcomes of a world that needs calories to stay alive. If the population is too heavily hawkish it will be in the interest of some to become dovish. If people could trust each other to all be doves, the world would have a higher standard of living. However, the incentive to be the lone hawk in a dove world is too great for some. Therefore, the world will never have uniform preferences.

Because trust among altruistic people is so important, part of this chapter deals with how trust (cooperation) can be formed. One way to build trust is to act consistently in a manner that is counter to rational choice predictions. If the behavior has been observed as a pattern, others will come to believe that this behavior can be expected and they will act accordingly. A second way to build trust is to make it known that certain values guide one's life and will be pursued irrespective of normal self-interest motives. The notion of fairness will prevent the person with the most power from driving a tough bargain that might be accepted except for feelings of unfairness on the part of the weaker party (as in the $20 bill exercise in the text). Adam Smith observed that identification with a highly moral religious group can signal intentions and enhance trust in interdependency situations because of the behavior-monitoring tendencies of religious sects.

Those who fake trust, but then cheat, stand to benefit in the short run until repeat transactions occur or until the word of their cheating tendencies becomes public. How trusters (cooperators) and cheaters (defectors) interact and survive in a population is the subject of considerable discussion. If cooperators and defectors cannot be identified, the defectors will take over and the cooperators become extinct as they get paired increasingly often with defectors and then lose out in the rewards. This happens also because there is no way of punishing defectors or avoiding them in future transactions, since they cannot be identified in this model.

If both types can be identified easily, the situation is reversed. Defectors will be able to interact only with other defectors because cooperators will not enter into transactions with defectors. Two defectors working together fare worse than two cooperators working together, so the defectors evolve as the weaker in the population and become extinct. If there is a cost of discerning between the two types, there will be a place in the population for both cooperators and defectors. This is true because when the cooperators become dominant in the population, their chances of linking up with other cooperatives are so great that they will not pay the cost of finding cooperators. When the expected value of gains from a randomly chosen partner exceeds the net return of searching for another cooperator, then the defectors will have a permanent niche in the population. Because the defectors working together earn positive rewards, the outcome of the cooperator/defector model differs somewhat from the hawk-dove story.

In the final analysis, people make choices based on the complete range of emotions, some of which run counter to the pure self-interest model. People do respect each other's rights even when they would gain by not doing so. They vote when the cost of doing so exceeds the benefits. They give up money in order to enhance their view of fairness. In fact, conscience, envy, love, honor, guilt, loyalty, and many other emotions impact all choices to some degree, and it is wise to understand how this fact can enrich standard rational choice theory.

It is important to realize that after all the commitments are made and all the emotions are assessed, non egoistic behavior will only work if the altruistic behavior is heartfelt. Fake altruism can not be hidden for long. Cultivating behavior that makes altruism heartfelt is part of what it means to be moral. 

Chapter Outline

1. Present-aim rationality is too broad and self-interest rationality cannot ex​plain behavior where habit, passion, and appetite are involved.

2. The pursuit of rational choice self-interest does not always bring the greatest rewards.

a. Where interdependence and trust are present, the rewards of altruism and cooperation may be greater than the rewards of narrow self-interested behavior.

b. The parable of the hawks and doves shows how both altruistic and narrow self-interested preferences will both exist in a society.

3. The prisoner's dilemma shows that the commitment problems must be solved for doves or cooperators to be successful.

4. A model of cooperators and defectors illustrates the tenuous balance in society between the two groups.

a. Defectors will dominate if social interaction is random.

b. Cooperators will dominate if free detection of each group exists.

c. If detection is costly, society will be made up of both groups.

d. Because mimicry of cooperative behavior is always a likely practice, detection costs will be positive and both preferences will exist despite the common rational choice notion that tastes do not differ.

5. Emotions sometimes lead us to behavior that seems irrational.

a. People sue others when the costs exceed any possible gain because of the emotion of anger.

b. Many people vote in elections when the costs exceed the benefits except for the pull of patriotism.

c. People will give up absolute income to preserve their relative income standing.

6. In short, some identifiable tastes based on emotions of all kinds can lead to advantages that opportunists miss, but those who benefit from the exercise of altruism and emotion must inevitably hold their preferences sin​cerely.

Important Terms

commitment device 
mimicry 

cheating problem 
defector

prisoner's dilemma 
cooperator

deterrence problem 
average payoff

bargaining problem 
altruistic preferences

A Case to Consider

Matt does many things that fit the rational self-interest model. He also does some things that are not very easily explained by that model. For example, he gives 10% of his income to his church and he goes out of his way to stay on the sidewalk rather than walk on the grass even though his trip through the grass would not damage it. He gets up early on Election Day even though his vote never swung an election. On trips he pays his self​-service gas bills even though he could easily drive off without being noticed, and he spent $2000 on a burglar alarm system in the computer shop even though he keeps very little money there overnight and never has been robbed. On one occasion Matt bought doughnuts for a party of guests that he hardly knew, and he picked the kinds of doughnuts that he hates. On top of all of this, Matt, handsome brute that he is, is never un​faithful to his wife even though he has many attractive opportunities to cheat during his out-of- town business trips. Unlike some travelers, Matt always keeps his wedding ring on and his family picture in his wallet.

This list could go on and on because Matt seems to be far from the typical economic maximizer that the standard textbooks talk about. In the space below, try to explain Matt's behavior. Identify the emotions, senses, or feelings that are involved in this activity. Why does Matt:

1. give to his church?

2. stay on the sidewalk?

3. vote?

4. pay for his gasoline?

5. buy an alarm system?

6. buy doughnuts he dislikes?

7. remain faithful to his wife?

8. wear a wedding ring?

Multiple-Choice Questions

1. From the stories presented in this chapter we could conclude that 

a. the world would be better off if it was full of altruists, doves, and cooperators rather than full of hawks, cheaters, and egotists. 

b. altruism works as long as only some have those qualities. 
c. altruists are basically irrational. 
d. all of the above are true. 
e. none of the above are true.

2. Standard rational choice theory accepts which of the following?

a. People are creatures of reason.

b. People are inefficient processors of information.

c. People have widely different goals and preferences.

d. Economic choices frequently involve interdependencies among people.

3. In the prisoners dilemma story, if the prisoners could communicate with each other before interogation

a. they would most likely each get one year in prison. 

b. they would most likely each get 5 years in prison. 

c. one would likely cheat and get no punishment while the other would not cheat and get 20 years in prison.

d. one would likely cheat and get 20 years in prison while the other would likely not cheat and go free. 

e. No prediction is very reliable until we know how trustworthy each one is. 

4. In the deterrence problem in the text, in which Jones prosecutes Smith, who stole the briefcase, the fundamental factor that makes this case dif​ficult for the pure rational theorist is

a. the problem of not knowing the present expected value of deter​rence that would be gained by Jones when he prosecutes.

b. that the briefcase may have been damaged.

c. that Jones miscalculated when he prosecuted.

d. that Jones calculated correctly that prosecuting was not worth his while, yet he went ahead anyway because of his anger.

5. If Joe is not trustworthy but there are advantages in being trustworthy, then it would be in his best interest, according to rational choice theory,

a. to become genuinely trustworthy and to be perceived as such.

b. to be perceived as trustworthy without actually having these qualities.

c. to change his preference and become trustworthy whether others know or not. 

d. to remain untrustworthy and be perceived as such.

6. In the typical defector-cooperator population models, which of the follow​ing is not a basic assumption?

a. Defectors working together will have lower payoffs than cooperators working together.

b. The population growth will be greatest in the group that has the highest payoff.

c. When cooperators and defectors work together, the cooperator receives the highest payoff.

d. All the above are basic assumptions of the models.

7. In the cooperator-defector model, if the population has more cooperators than the equilibrium specifies, what will cause the percent of cooperators to decrease?

a. The cooperators turn into defectors when faced with opportunities for cheating.

b. The defectors pretend they are cooperators and get away with it.

c. The cooperators voluntarily stop paying the cost of vigilance.

d. The defectors trick cooperators into pairing with them.

8. Which of the following utility functions for Patrick most likely indicates that Patrick is altruistic?

a. U = f(Patrick’s wealth + Joel’s wealth/2)

b. U = f 
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c. U = f(Patrick’s wealth / Joel’s wealth)

d. none of the above correctly answer the question.

9.   When there are no search costs involved in finding others like you, the proportion of cooperators in the population ends up 



a.   being greater than when there are positive search costs. 



b.   is smaller than when there are positive search costs. 



c.   is unchanged from when there are positive search costs. 

d.   is indeterminate until one knows whether the defectors will use the free information.  

10.  The main point of this chapter is that 



a.   rational calculations by cooperators determine the nature of society.



b.   people can be bribed into irrational other centered action. 



c.   when people work together they are happier.

d.   there is a place in society for those who are not always operating from narrow self-interest. 

Problems

1. Build a case for both sides of the debate issue: Resolved: Chapter 7 is really only present-aim rationality in disguise because people still are doing what is good for them.

2. Adam Smith had a very broad understanding of rational behavior. In the Theory of Moral Sentiments he argues that society holds together because people have an overarching desire to be highly regarded by others. Con​sequently, they find it in their best interest to do things that contribute to social solidarity and harmony. Consider the following comment from Adam Smith:

"[The man of low condition] never emerges so effectually from this obscurity, his conduct never excites so much the attention of any respectable society, as by his becoming the member of a small religious sect. He from that moment acquires a degree of consideration which he never had before. All his brother sectaries are, for the credit of the sect, interested to observe his conduct, and if he gives occasion to any scandal, if he deviates very much from those austere morals which they almost always require of one another, to punish him by what is always a very severe punishment, even where no civil effects attend it, expulsion or excommunication from the sect." (Quoted in "Mr. Smith and the Preachers: The Economics of Religion in the Wealth of Nations" by Gary M. Anderson, Journal of Political Economy, 96: no 5, 1071) Rewrite this paragraph using language from this chapter.

3. If positional income standing suddenly becomes very important to Franny (see Figure 7-1 in the text), what does that do to Franny's indifference curves? 

4. Redo the doves-hawks story, but this time assume that hawks fighting together use up only 4 calories each. Thus the loser gets –4 and the winner gets 12 - 4 = 8. The average gain per hawk is (8 –4)/2 = 2. Draw a new graph and show what will happen to the population equilibrium point. If the case involved people rather than hawks, what could possibly cause them to do something as irrational as to waste 10 calories fighting for something with an expected value of 6 calories? (Think of some of the wars going on in the world as examples.)

5. On a tropical island the inhabitants live off food they pick from large fruit trees. The government mandates that teams of 2 be sent out to pick the fruit because one must hold the ladder for safety reasons. Two types of people live on the island. One is the sharing type (S) who grew up in the part of the island where property was held in common and equality was the norm. The other type grew up in the part of the island that was individualistic and ruthlessly competitive (I). When two I's work together they each grab all the fruit they can reach from the ground because they will not hold the ladder for each other. They each can pick 50 pounds per day that way. When two S's work together they hold the ladder for each other so the best fruit in the tree tops can be picked and they each pick 75 pounds of fruit. If an S and an I work on a team, the I gets 90 because of his skill in picking only from the ground and the S picks only 25 since no one will hold the ladder for him. The group with the most fruit to eat increases its population share at the expense of the other group.

a. Sketch the payoff graph with pounds of fruit on the vertical axis and percent of population of S's on the horizontal axis, assuming that each worker is paired randomly.

b. Under the conditions in (a) above, and assuming that survival of the fittest (most fruit) holds over time, what will the island population be like in the long run and what will the standard of living (pounds per day) be for the people?

c. Next, a proposal is accepted to allow each S to pick a partner at no cost. Sketch a new graph to show this average payout situation.

d. Under this new policy, what will be the return to the S's in the long run, and what will be the population proportion between the S's and I's?

e. If the time lost in choosing partners costs each picker 10 pounds of fruit, sketch the new payoff graph and show graphically where the population balance between the two groups will come to equilibrium. (Remember that I's will not try to pick partners because they would try to pick S's who would not work with them anyway.)

f. Explain in words why S's will not choose their partner when the population of S's reaches the level specified in (e) above.

g. If the sharers were risk averse, would their population share at equilibrium be greater, equal to, or less than the equilibrium established in answer (e)?

6.  Explain why voter turnout is usually higher in national elections than in local elections where issues are closer to home and relevant to day-to-day life.

Answers to Question for Chapter 7
Case Questions

A suggested list might be: 1. compassion 2. love of nature 3. patriotism 4. moral teaching based on religious tradition  5. anger at the thought of being robbed  6. Adam Smith's moral sympathy  7. love  8. commitment device. 

Multiple-Choice Questions

1. a, Since cooperators working together are more productive and perhaps even more fulfilled as human beings, the world would be a better place if everyone cooperated. Alas, human nature has not made this possible.

2. a, People are efficient, individualistic, and have similar goals, so no others are right.

3. e, If the prisoners trusted each other and were trustworthy, then they would likely both remain silent and each get a year in jail, but if they were not sure of the trustworthiness of the other, than both would cheat and get 5 years in jail rather than risk a 20 year sentence.  

4. d, The emotion of anger resulted in irrational behavior and therefore wrong rational choice predictions.

5. b, Joe, if he could be trustworthy when only when it helpfed him,  would get the benefit of both the trustworthy and opportunistic worlds unless, as your text suggests, it is impossible to succeed as trustworthy unless you really are trustworthy.

6. c, In fact, defectors take advantage of cooperators.

7. c, The expected payoff from taking a chance on being paired with a cooperator is greater than the net return when paying for vigilance. 

8. a, As Joel’s wealth rises, Patrick’s utility rises suggesting that Patrick feels better because  Joel has become better off. . In letter (b) Patrick doesn’t care about Joel and in (c) Patrick feels better when Joel has less. 

9. a, Because the net payoff will always be greater with zero search costs a cooperator will never work with a defector and therefore will have a higher net payoff. Defectors get no advantage from the information because no cooperator, knowing defectors for what they are, will work with them  

10. d, For rational choice to be a meaningful model it predicts assuming a more self centered calculation process that the cooperators in this chapter illustrate. That people sometimes consider their interest to be broad and other-centered is a fact that pure rational choice methods do not process well.  

Problems 

1. In all the cases where non self-oriented behavior is successful it must be heartfelt rather than faked, according to author Frank. Is this true? If so, then altruistic behavior is not rational choice disguised. If Frank is wrong, then there are successful con artists in the long run and are they happy?

2. Be creative but, in question 2, get to the point of interdependence and how emotions and values and commitments condition behavior. Joining a sect is a form of a commitment device. 

3. The indifference curve becomes positively sloped because any gain for Zooey hurts Franny's relative standing. 

4. The Hawks' payoff function will be above the doves' function at all points (its right intercept will be +2 instead of _ 4), so they will take over the population. In our world, people are constantly fighting in conflicts where payoffs are negative unless emotional commitments make the payoffs higher than what are often considered in rational choice analysis.

5. a and b) The I's will dominate living on 50 pounds of fruit each. See Problem 7-5a below.
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5.   c,d, and e) In (d) the S's will be the only survivors with each earning a return of 75 pounds of fruit. See sketch for Problem 7-5c.




Problem 7-5c

 




          Fruit
Problem 7-5c
          Fruit
Problem 7-5e







 75







 50



 65









%S


%S            80

5. f) The S's fare better taking their chances, since there are so many S's in the population. They are assumed to be risk neutral. See sketch for Problem 7-5e above.

5. g) The sharers population would be greater because they would not take their chances until the odds were higher than 80% of getting matched with a sharer. 

6.   There could be many explanations for this phenomenon such as a higher cost of getting information on local candidates or less controversy and political partisan identity on local issues. However, another issue most likely is that people feel national identity and patriotism more intensely than they do local identity. They consider themselves American or Canadian etc. before they identify themselves by their home town. Patriotism and identity issues can lead to behavior that rational choice might not predict. 

Homework Assignment                               Name:____________________________

1. Andrew’s utility function is:                                                                                         U = (Andrew’s wealth + 200,000 / Mark’s wealth - 100,000)

a. If Andrew is a millionaire and Mark has one-half a million in wealth, what is Andrew’s utility level?

b. Andrew has a business idea, but needs Mark’s expertise to make it fly. The profit from the idea is expected to be $200,000. Mark is a hard bargainer and Andrew does not want to end up worse off on the deal. If Mark demands $75,000, should Andrew accept the deal?

c. What is the most he should be willing to offer to Mark to join the deal?

d. Why does this problem not fit within the usual neo-classical microeconomic analytical framework?

e. Comment on the kinds of feelings that might underlie  this utility function making it more realistic?

f. If the utility function was inverted, what would Andrew do? Would such a function make sense?

2. Working from problem 5e in the study guide, you want society to be equally balanced between sharers and individualists. In addition, you have the political clout to impose a tax on top of the existing 10 pound cost of picking partners. From these givens, could you achieve an equal balance in the population and, if so, how large a tax would need to be imposed to achieve the goal? Explain your answer.

3. Reflect on some practical ways that society does or could encourage cooperative behavior. List 2 specific possibilities. 

4.   In a society consisting of 75% cooperators and 25% defectors, with a 10-unit payoff to a cooperator who interacts with another cooperator and a 0-unit payoff to the cooperator who interacts with a defector, if the cost of scrutiny is 2, what should the cooperator do to maximize his utility?
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